Listen to part of a documentary about the UAE. Choose the correct answer.

The population in the UAE is around ...

a 8.3 million.
b 9.2 million.
¢ 7.8 million.

The number of non-Emiratis in the UAE
s

a 8.3 million.
b 7.8 million.
¢ 9.2 million.

The three reasons that the documentary
gives for the UAE being popular with
tourists are ...

a shopping, hospitality and safety.
b shopping, resorts and restaurants.
¢ shopping, events and nature.
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The total area of the seven Emirates is ...

a 83600km?.
b 8360km’.
c 83600m?.

The Emirate with the highest population
18 e

a Dubai.

b Abu Dhabi.

€ Ajman.
Abu Dhabi is the wealthiest Emirate
with regard to ...

a tourism.
b natural resources.
¢ Gross Domestic Product.
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